what sapp: +92 323 509 4443, enmil: negal ecture@muil . com
o000

MEGA LECTURE

SHORT QUESTIONS

Q4 1 A person helds 3 l:aa o_&: sroceries while standi na
st H ’L"I\K,n? to K ..Ferricl A car s S‘t';d: -arz:?rf N:'H's
c .

its encine running . From the StandFelnt °f work , hew
: ‘
are these two S'Tu:i’foﬂs Sfmp)ar ?
AﬂS.Im bm'ﬂ\ cases 'ﬂ12. dvsp11t—emtr\i IS :gero "mc) henu‘e

ne weorls is d.one Se These S.’tuibz.n are Sxm.\:lr
@ 4.2 Calculate the workk done in Kilo jbu}es in 1,4:'t.'n§ a
mass b,", 10 ki QQI a >'tcaJ7 Veloc;‘ff) 'ﬂqrgugh 3 verbical
heighX O.F 10 M.
¢
AnS

*
-

In this case werk dene is  stored 7q Ythe 50&7
as s P.E. S= ’
worlk = P-E = m%\-x

G

=
= lo Kgx°i-8 s w10 m

= 980 T

o5 &1
=1o-98 Y
Hence 1ﬁ9rox IKT werk/is done.
QA.% A —Force_ F acts thraw c"x a distance L . The -‘lc)“c.e
is then increased A& BF and Then acts ’H—\rough a
ffdrﬂxzi’ (J;S’tan:e ,_,:\: 1. . 'Dr-a:.._s the work d;g%ram to Sc-ﬂt_
AnS: A ,Forr;e F awAs ’eraug]"\

a distance.b {tl—;en m
work dBae = FL @™ | T % ‘y
Tr Thagtere= s increased F 2F 4 LrL
te 3F through g distanee

<
2L ,‘tken work dene F = %//
~ 3F. 2L = GFL @) TN A

L. 2L 3L
—_— —>

The Zired UnAEr cr‘lp]\ X QC)\.!‘l\
to the total werk clcme -

Total wori done — FL + &FL = FFL (units)
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Q4.4 In \A_)}'\I.QH CaASe 1S Mmore woarlk d.nr»e ? when P ‘Svk?’
when 3 ‘Smkg

b'\? oL Leoks s \,F‘La ‘rhroucﬂw Soem, or
cra'l‘e is Fuﬂned ’H-,rcun\w 'z.m deross ’T‘ne Floor with a
—Force c{_ So N ?

Ans ;(EO m:.S.QK% 7h:5‘oqm__:q,5‘m
In thi5 case werik done is stored as its P.E,

l_T’E—-md\-)
= So»9.% xo.5
= 245 7 ®)
(b) m:s“ekz’ 5 d = zm , F=5SeW
W, = F.d
= So N «2m ;lco'j‘ @ lN*rn:\:r

So in ISt case work done s more.
Q4 5 An object has 1T °f PE. Em\o ain whal deesit mean?
ANnS : An Ob\tcx has P.E when T s 'n a -Fcrctz -f-'e\c? such
as O’r’lvitzlt,ana1 .‘:.elé ar it is n 3 Constra-neJ

H‘a'te suvch as 3 v:omr:r-ess«za\ SF:-{n?' or e-;atencPec!

S{Dr-\n” .
(a) When an Ol\p)ttt. 's raysecl 57/ ann? VT Q’Y‘ warK
PE——mch—-’v\]'H _\J ()N*lrﬂ’)
\‘»e.', wWhen one ﬂewton fnrce s 3‘>f?\»¢_ca on X bQOL/
Dnd ,){,'t |t UF 'H‘\rau*l'?h a he»*’}\i Q,F_ 1m ’H"\_e

"ts. drav,tzj:.nnéﬂ P.E . Then

wWorks aFFdrs as
is 17,

the work done s S'?\.‘QreCX in The bocl/
Qb) When a S‘ar—,nd ve CanrQsSQCD or eATended
b7 dom? \T woerkX aon ,‘t the worlk s censerved
n The Sfrmo as “\‘5 Q)Zts'tlc P.E.
g . A ball o{, M ass (m’ is helcl ajt a he?c}\t h
2bove 2 +3ble . The table -to}o is at a heupki H
above The floor.one student says Fhit The ):::1” has

P.E = ma)ﬁ but anolher 53/5 »”\ﬂ it (s YY\CS (h '*""\Q

W)'\O is Correri ?
Ans. Btk statements are correcd . It is maltler °_¥_
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¥ the EJH . The

relalive T:os| Ton .far S}:Qc.n_}'_/md The P.E =

F.E relalive to the tab)ztef Vs m%l'u and P.E
relalive to The ‘é”rounc? s m%Q'\,—t-sz.

Q 4. F When 2 rockel re.enlers the a.t.mesl:here its nese
cene becomes very hot . Where does this hedk enersy

Come ,E.ram ?

&'!5 When 3 rocket re-eriers the aﬂ:mosF}\er& Wwith

hi P}'\ VQ1°:=1'7 s \'t'5 Nnose becam<es VQr—7 haT due tao
nQn

air -ch,ton The work done as‘lms't The anr -P‘»

's clh:méeé inta heﬂf

Q ____ W}‘\&t Sarl a_y_ ener°~/ s in The °n°w'"’ 3

@) Comrressea SPrvﬂc &b) W-Qj'—ef- n 4 h Oh O\zm

QC:) A MOVH'\ET car.
AﬂS;@E\as’l\.ft P.E is stored wn a comrressecl Sf:n-.n:
Q’)T‘“e waker in a h;fh dam hak Nsravitalional P.E

Clue to I'\'s he;cht W r T ’H\Q basin.

(C) A ""‘OV‘n‘é car HD.S \fL-. dye te s moCisn
certam he.uh'pc

Q4.9 a Eé’n'\ drc[:s a \‘.UF From =8
which breaks inte gfifces. what enerey C"tanqc’u 3""1

myolved ?

_B_r_]__s_ The cup hasd S2vy taj:«cn:ll pe L = cerfaim heisht

when 1t is droFrecﬂ te P.E decrcases and K.
mereasef )\ Just b:{cre strik .no The —f\eor The whole
°—Y— PENSs chanszc) ints =.E . @n S"Cr-,K.no the dreuncl

the B.E hexX :ZLT!A wcrlq
te break The cof int s pieces
G,A 10 A b°7 Uses 2 cai’_s}-:u\'t +o Throw 3 stone which
. List the

2 &reen Nouse Lm'nd ow
C

s C\w"lnoea m'tc Sounc)

accfé en'ta“7 SmQS\'\es

pPoss; ble enersﬁ\/ chancses,

Aﬂs The elastic PE o_y_rn,\g c:zj:qPUTt s ’tran_s_Ferrec» to

stene 2s 7ts K.E . When the stane strilkkes The oreen
house w»r\c‘lcw,“fke_ <. E of he stone s ch:naeé mts
SaunA Heﬁi flr\c) worXidoene 'n brenknng ﬂ\_: wind oue

— ~

Q\ﬁss )
&
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